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Note: Answer any FIVE full questions, selectmg atleast TWO questtonsfrom each part.
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: PART A
1 a. With a neat diagram, explain TCP / IP Protocol suite w1th a brlef descrlptlon of the protocol

50, will be treated as malpractice.

in each layers. 3 Com, (10 Marks)

b. Explain cable T.V Networks* WIthfa neat diagram. T/ (06 Marks)

; c. Explain with a neat dlagram SS7. (04 Marks)
2 a. With a neat diagram, explam three different types. of HDLC frames. (10 Marks)

b.  Apply bit stuffing.and unstuffing for
1000111111110011111010001111111111000011111 (04 Marks)

c. Why Wmdow snze in GO Back N ARQ should be less than 2™? Explain with an example.
e (06 Marks)

‘v,\

.......

long enough to guarante the detectlon of coll1310h by both stations. Fmd

i) The time when station. C hears the collision (t3) N

ii) The time when statlon A hears the colhsmn (ts).

iii) The number of bits station A has sent before detecting | the colllslon

iv) The number of bits station C has sefit-before detectmg the collision. (08 Marks)

Fig.Q3(b)‘,~,_j 4
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c. InaCDMA system the four Chlp sequences are :
A: F1=1-1+1+}pT1+1).
B: (1-1+1-1+T%l+1-1).
C:(-1+1-1+51®1+1-1-1).
D(1+1—1-,1'\-1—1+1-1)
If the received sequence is(-1+1-3+1-1-3+1+1), what is the data transmitted by
the four stations: (04 Marks)

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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a. What are Hidden and Exposed Station Problems in wireless LANS? Give solution for each.

A (10 Marks)
b. Give the format for IEEE 802.3 Frame format. W};at are the minimum and Max. Frame
length? (08 Marks)

c. Identify if the following 802.3 MAC Addresses are Unicast, Multicast or Broadcast.

i) 4A:30:10:21:10:1A i) 4° '2/0:1B:2e:08:Ee/ (02 Marks)
a. Explain three criteria of Transparlgﬁt;bgidge in detail with relevant diagrams. (10 Marks)

b. A system with Four LANS and W;ﬁﬁridges is shown in figiiQ5(b). Choose B1 as the root
bridge. Show the Forwarding an Alocking Ports after applying the spanning tree procedure.
(10 Marks)
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a. Explain IPV4 Header Fohrgﬁat. : # % (08 Marks)
b. Explain briefly strategi¢s.used to handle the tran (06 Marks)
c. Explain classful addres (06 Marks)

y:

"compare Multicasting,with Multiple Utiicasting. Differentiate between source based tree
{_m.and group shared tree approach used in Wulhcast routing. (10 Marks)
@ | . 2

: ikplain TCP connection establishment using three way
handshaking. % (10 Marks)
b. Explain Recursive resolution and'Tterative resolution in name address resolution. (10 Marks)




